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It is logical that it belongs to the father, for if he wanted, etc.

Overview
The X3 said we know that the 2391 N2 belong to the father, for it is logical that it
should be that way. n1901n explains why we cannot derive it otherwise.

nvoIN asks:
- (van 91 1193 W93 1999 INTI NNOM 3515 RPV 9N NPANT YIND NY INAN 9NN ON)

And if you will say, why does the X712 not say that we can know that 5"12 belongs
to her father since the 71ne» pays 512, as the X7n3 states later in the beginning of
w1 pn?

N1D0IN answers:
$525979 DIINA N2T) $ANT INIDT 2NN 250 XY NPT 9119 U

And one can say that perhaps a 7ns» does not pay "3, for the a’wp, which

X291 93K cite as a source for the obligation to pay 5™3, are written by a 2iR%, but
not by a non. We are not sure (at this stage) that a 7inan pays 5"2.

Summary
Without the 72007 that it belongs to the father, we would not know that a 7inon pays

5'"2.

Thinking it over

How can n»oin say that we are not certain that a nd»n pays "2 (perhaps it is only a
D181 who pays 5™2), when we know? that we derive 7nom1 01X one from the other,
S0 just as a DIXn pays 5"12 the same should apply to a 7non?!*

! The X7n3 there states that it is obvious that 5™2 belongs to her father (and not to her), since the 7non pays ™Ma.
However, if 5™2 would belong to her, why should he pay her for it, it was consensual (she agreed), so she was 7mmn
the 9"3; therefore we must assume that the 5"12 belongs to her father (and she cannot be 7 the monies due to her
father). This is all the proof we need that 5™2 goes to the father..

21t is only after we know that 5™2 belong to the father (from the 12n0n), that we can derive non from 0187 that (also)
by 1non he pays 512 to the father.

3 See 2,07 and >"wA there Tnan 7"7 (at the very bottom of the Tmy).

4 See nxpn W
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